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Questions

In ASP the function which returns an expression formatted as a date or time is.

In ASP the function which return the current system data is.

In JSP a canvas object provides access to a graphics object via one of its method called.

In JSP the classes that allow primitive types to be accessed as objects are known as.

Which class in JSP provides the capability to implement a grow able array of objects.

What value does read line () return when it has reached the end of a file in JSP.

Which method of the component class is used to set the position and size of a component in
JSP.

What method is used to specify a containers layout in JSP.

Which of the following statements a false about even handlers in java script.

What would be the colours of the RGB where the hexadecimal values are #FF0000. #
00FF00 and #0000FF respectively.

When trying to access a URL the following message is displayed on the browser.
Server. Error 403
What could be the reason for the message.

Consider the following statement which of the following options is a correct one.

Answers Choice

. Format date or time (0

. Format date And Time()
Format date time ()

. Format DT ()

Get data ()
Date ()

Now ()

. Current date()

Get Canvas ()
. Get Graphics()
Paint ()

. get paint(0

. Primitive classes
Object classes
Boxing classes
Wrapped classes
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Array class

Grow Able Array class
Container class
Vector class

Last character in the file
False

Null

EOF

Set size (0

. Set Bounds ()

. Set position ()

Set size position ()

. Set lay out ()

. Set container lay out ()
. Container lay out()

. Set cont layout ()
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. They can be included with input
tags

B. they can be associated with end of
the processing for a data base
application

C. They are generally used to call
functions when triggered.

D. They can be sued to trigger
server side scripts.

A. Blue , green , Red
B. Green , Blue, Red
C. Red, Blue ,Green
D. Red, Green, Blue

A. the requested HTML file is ot
available

B. The URL refers to a CGl script and
the header of the script does not
indicate where that interpreter is
located.

C. the first line of the output from the
scripts is not a valid HTTP header

D. The requested HTML file or CGI
script has insufficient permission.

A. The above statement is a part of a
request from a web client.

B. The above statement is a part of
the input to a CGIl program

C. Dispenser pl may be a CGl
program

D. Want is a variable and what's new
html HTTP/1.0 is the value
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Which of the following options is correct with regard to HTML.

Which is the advantage of e- business.

Which is not the application of internet.

Which is the threats for clients

Which service provide 3D view of earth.

Which is the chatting application

Email stand for

Which is not the search engine

Which is not the browser

Which protocol is used for browsing website.

The maximum speed of Modem is

Which is not the requirement of internet.

In HTTPS 'S' is stands for

FTP can be runs on.

Which is not the server side programming language.

URL stand for

In which method we can connect to internet.

Who provide us internet.

A
B.
C.

It IS @ modelling language
Itis a DTP language
It is a partial programming

language
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A
C.
D. all of these
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. Reduction of cost
. Reduction of paper work
. All of these

. Communication
. Banking
. Shopping

Virus

Torjan Horses

. Wikipedia
. Skype
. None

. Google earth
. You tube

None

. Electronic mail
. Electric mail

None

. Altavista .com
. Google .com

. Yahoo.com

. Internet explorer

Mozilla
Google

TCP

FTP
TFTP

32 kbps

64 kbps

. 128 kbps<div><br></div>

. Operating system

Web Browser
Modem

Simple

Server
None

Unix
Linux

. DOS/Windows

JSP

ASP
PHP

. Universal Resources locator

. Uniform Radio Locator

None
Dial up

SLIP
PPP

TCP

ETD






